



IMPLICIT ALGORITHMS FOR A DEMICONTINUOUS SEMIGROUP OF PSEUDOCONTRACTIONS

SONGTAO LV

Department of Mathematics, Shangqiu Normal University, Shangqiu 476000, China

Abstract. In this paper, we study a demicontinuous semigroup of pseudocontractions based on an implicit algorithm. The results obtained in this paper improve and extend many corresponding results announced recently.

Keywords. Banach space; Convergence, Implicit algorithm; Semigroup.

2010 Mathematics Subject Classification. 47H09, 47H10.

1. Introduction

Fixed point problems, which find a lot of applications in many real world applications, cover variational inequality problem, saddle point problems and complementary problems as special cases; see [1-5] and the references therein. During last four decades, many existence of fixed points of nonlinear operators has been investigated. From the viewpoint of real world applications, we need to find their fixed points via explicit and implicit iterative algorithm. Implicit iterative algorithms, which have been studied extensively, are powerful to treat pseudocontractive operators; see [6-9] and the references therein.

In this paper, we study an implicit hybrid algorithm for fixed points of pseudocontractive operators. Strong convergence theorems are established in the framework of real Hilbert spaces.

E-mail address: sqlvst@yeah.net.

Received May 19, 2016; Accepted October 28, 2016.

2. Preliminaries

Let \mathcal{H} be a real Hilbert space with inner product $\langle \cdot, \cdot \rangle$ and induced norm $\|\cdot\|$ and let $T : C \rightarrow C$ be a nonlinear mapping, where C is a closed convex subset of \mathcal{H} . The set of fixed points of T is denoted by $\mathcal{F}(T)$; that is, $\mathcal{F}(T) := \{x \in C : Tx = x\}$. We remark that \rightarrow and \rightharpoonup denote strong and weak convergence, respectively. Recall that a mapping T is said to be nonexpansive iff

$$\|Tx - Ty\| \leq \|x - y\|, \quad \forall x, y \in C.$$

T is said to be strictly pseudocontractive iff there exists a constant $k \in [0, 1)$ such that

$$\|Tx - Ty\|^2 \leq \|x - y\|^2 + k\|(I - T)x - (I - T)y\|^2, \quad \forall x, y \in C.$$

T is said to be pseudocontractive iff

$$\langle Tx - Ty, x - y \rangle \leq \|x - y\|^2, \quad \forall x, y \in C; \quad (2.1)$$

T is pseudocontractive iff $I - T$ is monotone. T is said to be strongly pseudocontractive if there exists a constant $\alpha \in (0, 1)$ such that

$$\langle Tx - Ty, x - y \rangle \leq \alpha\|x - y\|^2, \quad \forall x, y \in C;$$

T is said to be α -dissipative with $\alpha \in \mathbb{R}$ iff

$$\langle Tx - Ty, x - y \rangle \leq \alpha\|x - y\|^2, \quad \forall x, y \in C.$$

We remark here that (2.1) is equivalent to

$$\|Tx - Ty\|^2 \leq \|x - y\|^2 + \|(I - T)x - (I - T)y\|^2, \quad \forall x, y \in C.$$

The class of strict pseudocontractive mappings falls into the one between classes of nonexpansive mappings and pseudocontractive mappings; and the class of strongly pseudocontractive mappings is independent of the class of strict pseudocontractive ones. The class of strongly pseudocontractive mapping is a subset of the ones of α -dissipative mapping with $\alpha \in \mathbb{R}$.

In the following, we give some examples for strict pseudocontractive mapping, strongly pseudocontractive mapping and pseudocontractive mapping, which can be obtained in Zhou [10].

Example 2.1. Take $C = \mathbb{R}^1$ and define $T : C \rightarrow C$ by

$$T(x) = \begin{cases} 1, & \text{if } x \in (-\infty, -1), \\ \sqrt{1 - (1+x)^2}, & \text{if } x \in [-1, 0), \\ -\sqrt{1 - (x-1)^2}, & \text{if } x \in [0, 1], \\ -1, & \text{if } x \in (1, +\infty). \end{cases}$$

Then T is a strongly pseudocontractive mapping but not a strict pseudocontractive mapping.

Example 2.2. Take $C = (0, \infty)$ and define $T : C \rightarrow C$ by

$$Tx = \frac{x^2}{1+x}$$

Then T is a strict pseudocontractive mapping but not a strongly pseudocontractive one.

Example 2.3. Take $\mathcal{H} = \mathbb{R}^2$ and $B = \{x \in \mathbb{R}^2 : \|x\| \leq 1\}$, $B_1 = \{x \in B : \|x\| \leq \frac{1}{2}\}$, $B_2 = \{x \in B : \frac{1}{2} \leq \|x\| \leq 1\}$. If $x \in (a, b) \in \mathcal{H}$, we define x^\perp to be $(b, -a) \in \mathcal{H}$. Define $T : B \rightarrow B$ by

$$T(x) = \begin{cases} x + x^\perp, & \text{if } x \in B_1, \\ \frac{x}{\|x\|} - x + x^\perp, & \text{if } x \in B_2. \end{cases}$$

Then T is a Lipschitz pseudocontractive mapping but not a strict pseudocontractive one.

Definition 2.4. A pseudocontraction semigroup is a family $\mathfrak{F} := \{T(t) : t \geq 0\}$ of self-mappings of C such that

- (1) $T(0)x = x$ for all $x \in C$;
- (2) $T(s+t) = T(s)T(t)$ for all $s, t \geq 0$;
- (3) $\lim_{t \rightarrow 0^+} T(t)x = x$ for all $x \in C$;
- (4) for each $t > 0$, $T(t)$ is pseudocontractive; that is,

$$\langle T(t)x - T(t)y, j(x-y) \rangle \leq \|x-y\|^2, \quad \forall x, y \in C.$$

Obviously, the class of pseudocontractive semigroups includes the class of nonexpansive semigroup as a special case. In this paper, we use \mathcal{F} to denote the set of common fixed points

of \mathfrak{F} ; that is,

$$\mathcal{F} := \{x \in C : T(t)x = x, \quad t > 0\} = \bigcap_{t>0} F(T(t)).$$

Definition 2.5. T is said to be demicontinuous on C , if $\{x_n\} \subset C$ and $x_n \rightarrow x \in C$ together imply $Tx_n \rightarrow Tx$.

The following lemmas also play an important role in this paper.

Lemma 2.6. *Let C be a closed convex subset of a real Hilbert space \mathcal{H} . and let P_C be the metric projection from \mathcal{H} onto C (i.e., for $x \in \mathcal{H}$, P_C is the only point in C such that $\|x - P_C x\| = \inf\{\|x - z\| : z \in C\}$). Given $x \in H$ and $z \in C$. Then $z = P_C x$ if and only if there holds the relations:*

$$\langle x - z, y - z \rangle \leq 0 \text{ for all } y \in C.$$

Lemma 2.7. *Let \mathcal{H} be a real Hilbert space. Then the following equations hold:*

- (1) $\|x - y\|^2 = \|x\|^2 - \|y\|^2 - 2\langle x - y, y \rangle$ for all $x, y \in \mathcal{H}$;
- (2) $\|tx + (1 - t)y\|^2 = t\|x\|^2 + (1 - t)\|y\|^2 - t(1 - t)\|x - y\|^2$ for all $t \in [0, 1]$;
- (3) *If $\{x_n\}$ is a sequence in H weakly convergent to z , then*

$$\limsup_{n \rightarrow \infty} \|x_n - y\| = \limsup_{n \rightarrow \infty} \|x_n - z\| + \|y - z\| \text{ for all } y \in \mathcal{H}.$$

Definition 2.8. [11] $T : D \subset K \rightarrow \mathcal{H}$ is said to be weakly inward (relative to K) if $Tx \in \bar{I}_K(x)$ for $x \in D$, where $\bar{I}_K(x)$ is the closure of the inward set $\bar{I}_K(x) := \{x + c(z - x) : z \in K \text{ and } c \geq 1\}$.

Lemma 2.9. [12] *Let C be a closed convex subset of \mathcal{H} . Assume that $T : C \rightarrow \mathcal{H}$ is a demicontinuous weakly inward α -dissipative mapping with $\alpha < 1$. Then T has a unique fixed point in C .*

Lemma 2.10. [13] *Let C be a nonempty closed convex subset of a real Hilbert space \mathcal{H} and $T : C \rightarrow C$ be a demicontinuous pseudocontractive mapping. Then $\mathcal{F}(T)$ is closed convex subset of C and $I - T$ is demiclosed at 0.*

3. Main results

Theorem 3.1. *Let \mathcal{H} be a real Hilbert space and let C be a nonempty closed and convex subset of \mathcal{H} . Let $\mathfrak{T} := \{T(t) : t \geq 0\}$ be a demicontinuous semigroup of pseudocontractions on C . Let $\{x_n\}$ be a sequence generated in the following iterative process: $x_0 \in H$ is chosen arbitrarily and*

$$\left\{ \begin{array}{l} C_1(t) = C, \\ C_1 = \bigcap_{t \geq 0} C_1(t), \\ x_1 = P_{C_1} x_0, \\ y_n(t) = \alpha_n(t)x_n + (1 - \alpha_n(t))T(t)y_n(t), \\ C_{n+1}(t) = \{z \in C_n(t) : \|x_n - z\| \geq \|y_n(t) - z\|\}, \\ C_{n+1} = \bigcap_{t \geq 0} C_{n+1}(t), \\ x_{n+1} = P_{C_{n+1}} x_0, \quad \forall n \geq 0. \end{array} \right.$$

Assume that $\{\alpha_n(t)\}$ in $[0,1]$ satisfies the condition $\limsup_{n \rightarrow \infty} \alpha_n(t) < 1$ for all $t \geq 0$. If $\mathcal{F} := \bigcap_{t \geq 0} \mathcal{F}(T(t)) \neq \emptyset$, then $\{x_n\}$ converges strongly to $P_{\mathcal{F}} x_0$.

Proof. For each $n \geq 0$, defined a mapping $S_n : C \rightarrow C$ as follows:

$$S_n x = (1 - \alpha_n(t))T(t)x + \alpha_n(t)x_n.$$

We see that S_n is a demi-continuous and strong pseudocontraction. Indeed, for every $x, y \in C$, we have

$$\begin{aligned} (1 - \alpha_n(t))\|x - y\|^2 &\geq (1 - \alpha_n(t))\langle S(t)x - S(t)y, x - y \rangle \\ &= \langle S_n x - S_n y, x - y \rangle. \end{aligned}$$

This shows that S_n has a unique fixed point. Next, we prove that C_n is closed and convex for each $n \geq 1$. Obviously, C_n is closed for each $n \geq 1$. We observe that C_n is convex. Indeed, let $z_1, z_2 \in C_{n+1}(t)$ for each $n \geq 0$ and $t \geq 0$. Take $z = \alpha z_1 + (1 - \alpha)z_2$ for $\alpha \in (0, 1)$. Notice that

$$\|y_n(t) - z_1\| - \|x_n - z_1\| \leq 0, \tag{3.1}$$

and

$$\|y_n(t) - z_2\| - \|x_n - z_2\| \leq 0. \tag{3.2}$$

Using (3.1) and (3.2), we find that

$$\begin{aligned}
\|y_n(t) - z\| - \|x_n - z\| &= \|y_n(t) - \alpha z_1 - (1 - \alpha)z_2\| - \|x_n - \alpha z_1 - (1 - \alpha)z_2\| \\
&\leq \alpha \|y_n(t) - z_1\| + (1 - \alpha) \|y_n(t) - z_2\| \\
&\quad - \alpha \|x_n - z_1\| - (1 - \alpha) \|x_n - z_2\| \\
&\leq 0.
\end{aligned}$$

This shows that $C_{n+1}(t)$ is convex for each $n \geq 0$ and $t \geq 0$, therefore, $C_{n+1} = \bigcap_{t \geq 0} C_{n+1}(t)$ is also convex for each $n \geq 0$ and $t \geq 0$. That is, C_n is convex for all $n \geq 1$. $\forall p \in \mathcal{F}$, we have

$$\begin{aligned}
\|y_n(t) - p\|^2 &= \langle \alpha_n(t)x_n + (1 - \alpha_n(t))T(t)y_n(t) - p, y_n(t) - p \rangle \\
&= (1 - \alpha_n(t)) \langle T(t)y_n(t) - p, y_n(t) - p \rangle + \alpha_n(t) \langle x_n - p, y_n(t) - p \rangle \\
&\leq \alpha_n(t) \|y_n(t) - p\| \|x_n - p\| + (1 - \alpha_n(t)) \|y_n(t) - p\|^2.
\end{aligned}$$

It follows that $\|x_n - p\| \geq \|y_n(t) - p\|$. This shows that $\mathcal{F} \subset C_{n+1}(t)$ for all $n \geq 0$ and $t \geq 0$. It follows that $\mathcal{F} \subset C_{n+1}$ for all $n \geq 0$, that is, $\mathcal{F} \subset C_n$ for all $n \geq 1$. In view of $x_n = P_{C_n}x_0$, we see that

$$\langle x_n - x, x_0 - x_n \rangle \geq 0, \quad \forall x \in C_n. \quad (3.3)$$

and since $\mathcal{F} \subset C_n$, we also have that

$$\langle x_n - w, x_0 - x_n \rangle \geq 0, \quad \forall w \in \mathcal{F}. \quad (3.4)$$

It follows that

$$\begin{aligned}
0 &\leq \langle x_n - P_{\mathcal{F}}x_0, x_0 - x_n \rangle \\
&= \langle x_n - x_0 + x_0 - P_{\mathcal{F}}x_0, x_0 - x_n \rangle \\
&\leq \|x_0 - x_n\| \|x_0 - x_n\| \|x_0 - P_{\mathcal{F}}x_0\| - \|x_0 - x_n\|^2.
\end{aligned}$$

This shows that

$$\|x_0 - P_{\mathcal{F}}x_0\| \geq \|x_0 - x_n\|. \quad (3.5)$$

There $\{x_n\}$ is a bounded sequence. In view of the construction of C_n , we see that $C_{n+1} \subset C_n$ and $x_{n+1} \in C_n$. It follows from (3.5) that $\|x_0 - x_{n+1}\| \geq \|x_0 - x_n\|$. Hence, we have $\lim_{n \rightarrow \infty} \|x_0 - x_n\|$

exists. On the other hand, we have $\langle x_0 - x_n, x_n - x_{n+1} \rangle \geq 0$. It follows that

$$\begin{aligned} \|x_0 - x_{n+1}\|^2 - \|x_n - x_0\|^2 &\geq \|x_0 - x_{n+1}\|^2 - \langle x_0 - x_n, x_n - x_{n+1} \rangle - \|x_n - x_0\|^2 \\ &= \|x_n - x_0\|^2 - 2\langle x_0 - x_n, x_0 - x_{n+1} \rangle + \|x_0 - x_{n+1}\|^2 \\ &= \|x_n - x_{n+1}\|^2. \end{aligned}$$

Letting $n \rightarrow \infty$, we see that $\lim_{n \rightarrow \infty} \|x_n - x_{n+1}\| = 0$. Now, we are in a position to show that $\lim_{n \rightarrow \infty} \|y_n(t) - T(t)y_n(t)\| = 0$. In view of $x_{n+1} \in C_{n+1}$, one has $x_{n+1} \in C_{n+1}(t)$ for all $t \geq 0$. On the other hand, we have $\|x_n - x_{n+1}\| \geq \|y_n(t) - x_{n+1}\|$. It follows that $\lim_{n \rightarrow \infty} \|y_n(t) - x_n\| = 0$. On the other hand, from (*) in (2.1), one has $y_n(t) - x_n = (1 - \alpha_n(t))(T(t)y_n(t) - x_n)$. Since $\limsup_{n \rightarrow \infty} \alpha_n(t) < 1$ for all $t \geq 0$ and (2.7), we obtain $\|x_n - T(t)y_n(t)\| \rightarrow 0$, as $n \rightarrow \infty$. It follows that $\lim_{n \rightarrow \infty} \|y_n(t) - T(t)y_n(t)\| = 0$ for all $t \geq 0$. Since both $\{x_n\}$ and $\{y_n(t)\}$ are bounded, we obtain that $\emptyset \neq \omega_\omega(x_n) \subset \mathcal{F}$, where $\omega_\omega(x)$ denotes the weak ω -limit set of the sequence $\{x_n\}$. In view of the weak lower semicontinuity of the norm, we obtain that $\|x_0 - p\| \leq \|x_0 - P_{\mathcal{F}}x_0\|$, $\forall p \in \omega_\omega(x_n)$. Since $\omega_\omega(x_n) \subset \mathcal{F}$, we arrive at $p = P_{\mathcal{F}}x_0$, which in turn implies that $\omega_\omega(x_n) = \{P_{\mathcal{F}}x_0\}$. It follows that $\{x_n\}$ converges weakly to $p = P_{\mathcal{F}}x_0$. Finally, we show that $\{x_n\}$ converges strongly to $p = P_{\mathcal{F}}x_0$. From the weak lower semicontinuity of the norm, we obtain that

$$\|x_0 - P_{\mathcal{F}}x_0\| \geq \limsup_{n \rightarrow \infty} \|x_0 - x_n\| \geq \liminf_{n \rightarrow \infty} \|x_0 - x_n\| \geq \|x_0 - P_{\mathcal{F}}x_0\|.$$

This shows that $\lim_{n \rightarrow \infty} \|x_0 - x_n\| = \|x_0 - P_{\mathcal{F}}x_0\|$. It follows that $\{x_n\}$ converges strongly to $P_{\mathcal{F}}x_0$. This completes the Proof.

From Theorem 3.1, we have the following result on a single demicontinuous pseudocontractive operator.

Corollary 3.2. *Let C be a nonempty closed and convex subset of a real Hilbert space \mathcal{H} . Let $T : C \rightarrow C$ be a demicontinuous pseudocontraction. Let $\{x_n\}$ be a sequence generated in the*

following iterative process:

$$\left\{ \begin{array}{l} x_0 \in H \text{ chosen arbitrarily,} \\ C_1 = C, x_1 = P_{C_1}x_0, \\ y_n = \alpha_n x_n + (1 - \alpha_n)Ty_n, \\ C_{n+1} = \{z \in C_n(t) : \|x_n - z\| \geq \|y_n - z\|\}, \\ x_{n+1} = P_{C_{n+1}}x_0, \quad \forall n \geq 0. \end{array} \right.$$

Assume that the control sequences $\{\alpha_n\}$ in $[0, 1]$ satisfies the condition $\limsup_{n \rightarrow \infty} \alpha_n < 1$. If $\mathcal{F}(T) \neq \emptyset$, then $\{x_n\}$ converges strongly to $P_{\mathcal{F}}x_0$.

Remark 3.3. It is of interest to remove the demicontinuous restrictions imposed on the operators.

Acknowledgment

This paper was supported by the Natural Science Foundation of Henan Province (122300410420).

REFERENCES

- [1] S. Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, *J. Math. Anal. Appl.* 75 (1980), 287-292.
- [2] R.T. Rockafellar, Monotone operators and the proximal point algorithm, *SIAM J. Control Optim.* 14 (1976), 877-898.
- [3] M.V. Solodov, B.F. Svaiter, Forcing strong convergence of proximal point iterations in a Hilbert spaces, *Math. Program.* 87 (2000), 189-202.
- [4] H. Zhou, Convergence theorems for λ -strict pseudo-contractions in q -uniformly smooth Banach spaces, *Acta Math. Sinica* 26 (2010), 743-758.
- [5] W. Takahahsi, N.C. Wong, J.C. Yao, Iterative common solutions for monotone inclusion problems, fixed point problems and equilibrium problems, *Fixed Point Theory Appl.* 2012 (2012), Article ID 181.
- [6] X. Qin, S.Y. Cho, Implicit iterative algorithms for treating strongly continuous semigroups of Lipschitz pseudocontractions, *Appl. Math. Lett.* 23 (2010), 1252-1255.
- [7] S.Y. Cho, X. Qin, S.M. Kang, Hybrid projection algorithms for treating common fixed points of a family of demicontinuous pseudocontractions, *Appl. Math. Lett.* 25 (2012), 854-857.

- [8] K.R. Kazmi, S.H. Rizvi, Implicit iterative method for approximating a common solution of split equilibrium problem and fixed point problem for a nonexpansive semigroup, *Arab J. Math. Sci.* 20 (2014), 57-75.
- [9] B. Ali, G.C. Ugwunnadi, Convergence of implicit and explicit schemes for common fixed points for finite families of asymptotically nonexpansive mappings, *Nonlinear Anal.* 5 (2011), 492-501.
- [10] H. Zhou, Convergence theorems of fixed points for Lipschitz pseudo-contractions in Hilbert spaces, *J. Math. Anal. Appl.* 343 (2008), 546-556.
- [11] K.Q. Lan, J.R.L. Webb, A fixed point index for weakly inward A -proper maps, *Nonlinear Anal.* 28 (1997), 315-325.
- [12] K.Q. Lan, J.R.L. Webb, A fixed point index for generalized inward mappings of condensing type, *Trans. Amer. Math. Soc.* 349 (1997), 2175–2186.
- [13] K.Q. Lan, J.H. Wu, Convergence of approximants for demicontinuous pseudo-contractive maps in Hilbert spaces, *Nonlinear Anal.* 49 (2002), 737-746.